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The Go-Lab team

19 partners

East (Tartu) and West (Lisbon)
North (Tartu) an South (Nicosia)
Commercial, non-commercial
Large and small organizations

Experience - non-experience

New and old colleagues

LAB




Objective ICT-2011.8.1, target b2 &

LAB

We should have

the combination

Supporting European wide federat®nh and use of remote
laboratories and virtual experimentations for learning
We should and teaching purposes. The service shall enable online
OYSr Interactive experimentations by accessing and controlling
for new lab real instruments, or using simulated solutions. Open
providers interfacing components for easy plug-and-play of remote
and virtual labs should be made available to stimulate
the growth of the network of labs. Research shall include
work on the user interfaces that mediate the
complexities of creation and usability of experiments,
for specific pedagogical contexts in primary and
secondary schools and higher education, including at
university level. This part of the targetutcome should
be pursued by IPs that include large st} ]

So different levels
of users

Scaffolds play
a central role
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Shared proposition table

Truth-value | Unknown

Experiment | Farce & Mass

WOpOSIIon |Jnnathan | test |Mar\e-Anne | test ]
An objectwith a constant net force will have a constant speed Probably true 3 (N
If velocity equals Zera, acteleration equals zera too False B False r
If the net foree of an object doubles, the velocity of this object will also False i True =
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Simulation

I'want to test this proposition
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Carbion dioxide
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causes

al=-05and
a2=18m

In this situation, what has to be the
ratio hetween F1 and F2 to neutralize
M1 and M2, meaning that the seesaw is j
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